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Full Marks : 80
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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions :  1x10=10
T epprRd Ted fu

(@) Mention one n'nportance of normal
distribution.

AT TB79 0! SIFel Soard o1 |
(b) When is F-test used?.
F-o ] (PN IR FNF?

(c) Give one property of t-test.

t-o_RrFq o1 (3T T 1
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(2)

(d) Mention one cause of heteroscedasticity.

ReRvema Gb1 2y FRT BE T4

(¢) When does specification error arise?

R R =6 ceiom Tea 7
() What is linear equation?

e R
(g9 Write the full form of BLUE.

BLUES 579 Sl forr |
(h) Define coefficient of determination.

i TR R o |

(i)' If the error terrn is not distributed

normally with o2 variance, what type of
problem may arise?

ot mmmqﬁm«wm@c?i“ma
'm, mﬁﬁ@ﬁﬂﬁw‘\%ﬁ?’??

() What is critical reglon?
ooy o 17

2. v'méwef the following questions : 2x5=10
(a) Mention two properﬁes of estimators.
SPeed {o1 Ry e 0 -
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3.
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(b)

()

@

(e)

(3)

What does an error term represent?

T om R & w2

Mention two sources of autocorrelatmn
FICTOTTR T BT S ¥ | A

When does heteroscedasticity arise?

ReRveR efow Tea = 2

Distinguish between one-tailed test and
two-tailed test.

T-RRAE W 72-omERREE ﬁ*&m &S
N3 o o

Answer any Jour of the followmg questions :

Sx4=20

Wm{«ﬁmmﬁﬁhwmr

(a)

(b)

What is normal distribution? Mention
the properties of normal distribution. 1+4=5

mmqﬁﬁ?mmqmaﬁmWM|

What is hypothesis testmg? ‘What are
the various steps of hypothesis testing?

: 1+44=5
RN Tl 72 =77 AR ﬁﬁa TIAR
fora
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(4)

(c) Explain type-I and type-II error. 5
Ay PR &0 oF RO AFRT FoI /M
famm

(d) Explam the concept of regression.
Discuss the importance of regression in
economics. ' 2+3=5
SRR ATCOT T T | SRS AR
&% TIE HCoA 1 |

(e) Distinguish between multicollinearity
and autocorrelation. .

I TF AOTER  TEe
SICAGA 9 |

() Explain the method of measuring the
goodness of fit in a multiple regression
model.
| T W Tew Qe [ =R
SFRISCBT I | :

4. Answer the following questions : 10x4=40

] PP T fal

(a) Estimate the regression lines from the

24A/704

following data : - : 10
Rl ©uR [ X9 @99 Y TRET Q1
S <991

X : 78 8 97 69 59. 79 68 6l
Y : 125 137 156 112 107 136 123 108

{ Continued )

(b)

(c)

' '24A/704
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Or/ a{1

Explain the consequences of auto-
correlation on OLS estimation. How can-
autocorrelation be corrected? 4+6=10 .

OLS e TR FAFIR M
91 | 92 TP FCEE SIo9R AR 7

What is test of significance? Mention the
various steps associated with tests of
significance. 3+7=10

e R B2 e RwR e wie
TP By 1|

or / &I

Explain the consequences of multi-
collinearity. . : L 10

‘State. and _;iroyé Gauss—Mérkov theorem

for B; in linear regression model
Y, =Bo +B1 Xt +us, where By and B, are

* parameters and u; is stochastic term. 10

Y, =Bg +B1 Xy +up. SRR (TR - SHES
AR-TEFS OGOl IS WF o 40 | IS B
IF By 25 T WF u, Fio MR |
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(6)

Or / a1

Distinguish between null hypothesis and
alternative hypothesis. When- is chi-

- square distribution used? A random

d

t =2.78 corresponding to (n—-1) d.f.].

sample of S students from a class was
taken. The marks scored by them are 80,
40, 50, 90 and 80. Does these sample
observations confirm that the class
average is 70? [Tabulated value of

2+3+5= 10

ﬁ@wwﬁﬁwﬂawm‘aﬂmu :
chi-3+f Aot I IITT I T ? 901 A"

5 o RIE A9 WHEROSKd @R T |

oS 1 3 80, 40, 50, 90 SF 80

w, & SRYGEA A THRT 06 70 &

sfe F@EE? [t=2.787 CRRIgE T

(n—-1) d.f 3 c@ @ |

Explain the uses of dummy variable for

. measuring the change in parameters

24A/704

variable in seasonal analysis? Explain.

over time. What is the use of dummy

5+5=10
#T5or T AIRTGTT (o ' 3ee RAmRiAR vore
QRETI JRE T W, T 791 IgfeRs
Remw g o5 e ms I/ee w0
=7 IR0 S

( Continued )

(7)

Or/ 31

Explain how specification error may

arise if irrelevant variable isincluded in a

linear regression model. Explain the

corisequences of specification error. 4+6=10

SAPRPE 5oed 7/ Rew R & @emes

Te W TN W7 IR FoA FORPTR TIM
21

* X %

24A—8000/704 - 3 (Sem—4/CBCS) ECO HC 3



